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ti l,

33621740 UrIlna[qfrtr Sdq ql r/hum 900 I B1 00
336217r0 ULnh[n1n1 50dq q1 ry'hum 100 4,05 405
33621760 thruprqpfrl 5dq q1 r/huun 3600 5,25 1 8900
33611190 Ub[nqf4Obp Ca 13,5ilq ql flhLuLn 100 12,88 12BB
33621,1IO -Lrup$rup[rO [uup[ Sdq ql ry'hruur 100 32,9 3290
33621,1,10 .{un$unh0 Ouurplr 2.5dq ql rVhuun 300 8,47 2541
33621.620 Uq[pn[n1ulLnn0 25dq ql n/hum 600 35 21 000
33621380 rifiqopulr0 0,25tiq ql ry'hum 200 6,1 1220
33631310 r}frl4ln$b0Lut4 Oump[nLd 1% 30qn ql rt/huLn 5 158,4 792
33631310 r}[111n$b0u! 50dq q1 q/hLuLn 100 14,64 1464
33631310 e[!1n$bfiruL1 nbLnuprl 1 00dq ql flhLum 100 57,68 5768
336313 L0 r)fr!1n$b0ull 25dq/il1 3 q3 LUrfti1 78,4 1176

33691 231
Qruplrmdlr \urppnhuru, rfirurutilrh D3
500/200

ql ry'hLum 300 37,78 11334

33631300 trhrnm4pnShh l00dq q1 flhuLn 150 73,92 1 1088
33631300 lhrnnqpn$htr 4n[4nq 2,5% 50q ql nuu'l 0
33621690 lupr.lbaJr1nl 25dq ql flhum 150 35,9 5385
33621690 Uuptih4[rp1 12,Sdq ql flhum 300 32 9600
33621690 Qrupdh4|r1n1 6,25dq ql ry'hurur 150 25,2 3780
3362 1390 Udlrru4LupnO 200fq ql flhuun 300 63,8 19140
33621,420 Uurnp{uruururuhh l Oriq ql nihutn 120 29,2 3504
33621,420 Utnnpr] ururnruuhL 20tlq q1 ry'hum 600 33,99 20394
33621,420 Uurnprl uruurururhh 4 Oilq ql 4/huun 150 74,99 11248,5
33661,r2r Ug bm [1uru 1lr g [r pu-ppnL 1 00rlq ql r/hum 1800 18,99 34182
33621720 tr|rumqpnlnl 2,5dq ql flhum 360 0
33621720 Ffunulpnlnl sdq ql n/hum 450 8,8 3960
33621720 Plrunulpnlnt 10dq ql dhum 180 24,6 4428
33621.370 l-'qnunppImh nh0hmnLum-'1 0 $1 rVhrum 300 0
33621370 hqnunppIm h']h0hLnnLuLn-20 q3 4/huLn 300 0
33642230 Ltrnplrpopufrtr hrunplrnril 1 00dhq q1 flhum 700 15,52 1 0864

33661 1 53 rlb[urudbLnuqn0 uQOLu[rupfrl 0,1% 10d1 ql
22nal 2

n

33611160 Uhurn!1 nulpunifra 1 0tiq ql flhuLn 100 0
33611160 Uhr.nn!1nqpurilh+ 5ilq l,Jt AIt q1 und 10 53,84 538,4
33611100 Odbqpuqnl 20dq q1 ry'huLn 300 12,9 3870
33661 156 ldht[nrnr 5rlr ql 22nu

q
0

33621600 hh4urquuffra 2,5dq ql ty'huLn 30 16,88 506,4
33621600 htr4uquril|ra1,5dq ql ry'hum 120 47,87 5744,4
33671113 Uurtrmrnurr.Inr qnnurqhn 1 Oilt ql hunn 10 1000 10000



33651253 Srurlopulr$b0 20dq ql 4/hum 150 69,8 10470
33651253 Srurlopulr$b0 1Orlq ql 4/hutn 90 0
33621s90 $nLpnubdJrq 40rJq ql rVhurm 300 4 1200
33621700 Uhurnulpnlnl 50dq ql ry'hruur 300 23,3 6990

3365L1.12
Uilopulrghft h, \urfrmrllr plur{ntlurhunn
1,0cn

ql 4/hum 20 348 6960

33651116 8h$uqn1|rtr 1,Oqp ql ?2b\ 15 170 2550
33651118 3h$urpfrurpunh l,Oqn ql 7zIrJ.l 15 0

33651 1 31 Untl$turfhpopuurqnl+urpfnlhpnqpfll 800/1 60 ql 4/hum 20 370,12 7402,4

33651 1 31 Unr-1$Lutfhpopuurqnl +ulphr.fh pnq phil 400/80 qi r/hum 20 12,2 244

33651150 SynL!n0uqn1 150dq ql 4b4uquur
h6 5 0

33621730
.Lhpurquril|r1 (r{hpurqunl}rfir h]rapnpfnphr])
40ilq

cIl 4/hutn 90 0

33621730
.{hpurulurlirl (r{hpurulurilfrfr h}rapnplnFtrr})
80rIo

ql ty'huLn
120 26 3120

33621,1,40 trlnqfi4nqpbL 75ilq ql flhum 300 79,9 23970
33621700 llhurnqpnlnl 25rlq ql r/hum 600 1B 10800
336511.25 Uq |rppnrffrchtr 500tlq q1 rt/huLn 10 402,45 4024,5
3363r290 hpmqpn$hh 400riq ql ry'hruur 100 21,89 2189
33611,440 .lhuunfhh tr hunlurrhn q1 upq 20 109,19 2183,8

33621210
hp\*rut'
unr-1$urur 1 1 2, 6+SnLhupfdmsilq, +0, 0 1 ilq
rlhtn 812

cIl 4/huLn
90

84,62 7615,8

33621580 3[4pnp1npIphuqhn 25ilq ql dhum 100 11,84 1184
33642210 'lnbq0hqnLn[ 5rlq ql dhuLn 100 0
33661122 'rlLu pru g hrn u d n 1 500dq ql r/hum 100 5,6 560
33621590 $nrpnubdlr4 1nL6nL1p 40dq/d1 q1 un{ 10 28 280
3365r2s4 bmpnqn12,5 ql

4/hLuun 90 635,92 57232,8'i #,* :ffiffi * h.&Y '. W R ;\ *,, ;N*;#.r" I 'Y4 irRt=
iliH.:

33621740 Uiltn4hurhh 5dq ql ry'huLn 4200 0
336217I0 Umb0n1n150dq q3 flhum 300 0
33611190 UbInqfi40bp ql

4ihLuLn 300 0
3362IttO .hup$Lupf 0 0uLnpfr 5dq q1 flhuun 1 000 0
33621110 .tun$unh0 0umpfr 2dq ql q/htum 1 000 0
33621,620 Uq[pn0n1u!Lnn0 25dq ql flhum 4000 0
33621380 r)fqopuft0 0,25tiq ql 4/hutn 300 0
33631310 r}[!1n$b0u! [utnpftnLd 1% 30qn ql ry/huLn 20 0
33631310 rlfrllln$bfinr! 25dq/dp 3 ql turlut 40 0

33691 231
Q urpfrnr-rilr \ruppnhurur, t|}ruluri}rtr D3
500/200

ql 4/hLum 1000 0

33691231

trulg[nLdlr !ruppnILuLn Ll[runurdfr0 r[ 3

500dq./[n lb11tu tg h$ bn n L

200UU,duq0hqfinLd a0dq,q{h06 1rJq,
gh0q 7,5dq, dupqurIbg 1,BrIq,pnn250ilq/

ql r/hum

240

0

33631300 Qhrnmqpn$htr 100dq ql 4/hum 600 0
33631300 Qhnnqpn$htr 4n04nr1 2,5% 50a, ql hum 10 0
33621690 Qurprlh4|r1n1 25dq ql flhtuun 300 0
33621690 lurp{hafr1n1 12,5dq ql ry'hum 1 800 0
33621690 Qurprlhalrlnl 6,25dq ql flhun 600 0
33621390 Udlrru4upn0 200dq q1 flhum 900 0
33621,420 Uuinprliuur.nururlrtr 1 Oriq ql ry'hruun 900 0
33621_420 Urnnpr] ururnunnlrh 2 OtIq ql flhum 3000 0
3362L420 Uurnprl ururnurtnhtr 40rlq ql 4/huun 600 0
33661,121 UgbLn [1uru lfrg[1ur-ppnL 100dq qi

4/hLuun 10000 0
33621720 trfrunqpnlnl 2,5dq ql n/huu 1 800 0



33621720 Flrunqpnlnl 5dq ql ty'huun 3600 0
33621720 Flrunqpnlnl 1Odq ql 4/hum 900 0
33621.370 hqnunpp[Ln[ 4fr[[Ln pLuur-1 0 q3 ry'hruur 500 0
33621.310 hqnunppILn[ 4[r6[mpuu-20 ql ry'huLn 3000 0
33642230 Lbnplrpopulrh hrutnplmni 1 00dhq q3 r/huin 800 0
33661 1 53 rlbpurudbmuqn[ 4Odq/d1 ql und 50 0
33611160 UhunLlnutpunihn 1Oilq q3 4/huun 200 0
33611160 Uhurn\lnqprurlh+ 5riq /rl1 2ri q3 und 10 0
33611100 Odbqpuqnl 20dq ql flhuun 1s00 0
33661 1 56 lDhrlnrnr Silr q1 22hl) 30 0
33621600 htrrpuquiilfr4 2,5dq ql 4/huLn 300 0
33621600 ht4turqunifr4l,5dq ql 4/hutn 1200 0
33671 1 1 3 Jurlpnturunlnr qnnurqhn 1Odt qi hurur 10 0
33621590 SnLnnubdhn 40dq ql 4/huun 600 0
33621590 bnLpnuhdfr4 40dq/d1 ql un4 30 0
33621700 Uhtnnqpnlnl 50dq ql flhtuLn 450 0

33651.112
Udopubgb$h, \ur1]rnr-rilr plun{nr-lurtrunn
625 rio

q3 ry'huun 50 0

33651 131 Um1$tuilhpopuurqnf urplllhpnqpfll 800/1 60 ql flhum 100 0

33651 1 31 Unrl$turlhpopurrrqnl +trrrlhilLBnru nhri 400/80 ql ilhum 0
33651 148 qlnlnnfi0Luqnl 15qp 1% q1 NtULN 5 0
33631100 Uflnfitrqn1 15qp 2% ql huur 3 0

33651150 bgnLLlnIuqn1 150dq q3 4bququur
h6 20 0

33691 136
l.rump[nLdfr plnnh4 9dq/d1, 5dL

LudqnLlu0bp
q1 unq

10
0

33691 145
Uu:q[bq[nLdI unLl$tum 250dq/d1, 5rlL

udulnrlur0hp
qi unq

10 0

33621730 .tbpuqudfig 2,5ilq/d1 2il1 ql unq 10 0

33631250
rpuunl va"/o, LnLonLJp LunmLUpnU

![punilu0 thLnn 20
0

33671 1 30 rlJrSbtrhlr4pruUfr[ 1 dq/d1 1% q1 unu 10 0

33621290
hq[hhSp[h (hu{hhh$ph[i,
hlrrlpnuurpurpurur) 0, 1 B%

ql unq
10

0

33621730
.lhpurqunifrl ({hpuruluril}rft h}rapnptnlrh4)
40tlo

ql flhuut 300 0

33621730
.lhpurqurdlil (r{hpurulullfrllr hlrapnptnptrq)
B0rlo

ql q/huLn 360 0

336211,40 Qlnq[4nqpbL 75ilq q1 r/huun 600 0

33621700 Uhurnulpnlnr 2Sr.tq ql r/htuLn 900 U

33631290 hpnr-rqpn$hh 400riq q1 n/hutn 300 0

33621210
hp\*rul'
um1$unn 1 I l, $+$n1hrufdfdm5ilq, +0, 0 1 riq
rlhur 812

ql rt/hum
180

0

33621580 I [4pnp1npIphuqh'r 25ilq ql ry'hum 300 0

33642210 1ph4[ftqn1n0 5ilq ql flhum 300 0

33661,122 'rlupurgbmudnl 500dq q? 4/hurur 500 0

33621590 $nLpnubdfr4 lnLdnr;p 40dq/d1 ql un{ 30 0

33651254 Lbmpnqn12,5 qt r/hurm 210 0

PhtJhutbu0 0nrcbn 0
24451140 Ulumuhur0hl 0tnLB 0,5r ql nuul 2 0
24451140 JfuLnuhu0frl 0lnLp 1 ql hum B 0
24451140 JfuLnuhLu0frl 0;nLp 1 ql nuLn 15 0
24451140 UfumLuhur0frl [lnLp 1 q1 hum 10 0
24451140 UlumLuhruEhl 0rnLp 1000q. ql hum 10 0
24451140 Ufumuhu0ft2 0;nLp 750il1 ql nui Ln 20 0
33141 160 Un0nqpu$|r1.1 qb1 q1 Ihmn 15 0
24931500 trd. fthtrurq.druq.tphur\. \mp ql [hLnn 150 0
24931,500 trd. Ilhtlnq.duq. $ltLlurud cIl thmn 75 0



33210000 lbdnqgnpf 0 AIC ql pbuLn 40 0
33211120 G-Col qgnL[1nq q1 pbum 4000 0
3321,1310 |dpndpnqluurn ql pbum 360 0
33210000 htJbpuf nI lnLq ql d1 200 0
33211130 Pnlhumbpfr0lr npn2durO hur{upudnL ql pbuLn 2900 0
3321,1,130 2n[bumbnnL HDL ql rI1 100 0
3321,1,L30 Pnlbutnbpnl LDL ql rI1 100 0
33211150 tI[qLu0;nLp[ npn2du0 hrurlrupudnL ql BbuLn 400 0
33211160 3REA-Col !pburmfr0f 0 ql BbuLn 400 033211140 PIL[nnLpf0 ql pbum 300 0
3321 0000 ULS q3 BbuLn 360 0
3321 0000 uus qt Bbutn 360 0
3321 0000 UUL-O ql pbuLn 200 0
33211180 snhqLhsbnhn ql BbuLn 300 0
33211250 j-"!*\-It,l uqfrtriur\ mo ql pbuLn 600 0
33211190 3n1[!1n0 uhurfr A ql BbULn 400 0
33211200 Snif l;1n0 uLulr B ql BbuLn 400 0
33211220 3n1f!1n0 rutnnf D Unrqtp ql pbum 400 0
33211210 3n1fl-11n[ rutrnfr C Unrqhp q? BbuLn 100 0
33211320 lapidSignal HbsAg WB lbqLuLnlrLn F ql BbuLn 150 0
33211230 Uh$hLhuh urbuur RPR q.1 pbuLn 1 300 0
33211240 lhtftuurnfr4 Sruburn ql pbum 300 0
332ILL1,0 Jt4[u\pfrh 2 ql pbuLn 300 0
33210000 ulurdfr4fur IGG ql pbum 960 0
33210000 ulruDfr4fru AG q1 pbuLn 40 0
33210000 }-ptrupq[01r0/Urea-argin ine Lyo/ ql mnLqh 2 0
33210000 lndLu[n{uL1lr -qhdqur qt d1 2000 0
33210000 Iqnqfpu:ri ql mnrlh 3 0
33210000 4 uqum ql pbuLn 192 0
33210000 fltu TSH q1 pbum 576 0
33210000 PSA ql pbuLn 192 0
33210000 ]qs ql pbuLn 240 0
33210000 Itqurnlrn 3 ql pburn 150 0
33210000 Ufuunpn2fl 0lnLp COMBUR UR ql pbuLn 200 0
33691163 b04n uqup ql qn. 500 0
33691142 Ubpf gb0 lluqnqLn ql qn. 50 0

33210000
umtrnnlnnrpjnLuI uun Lqn rl rtu4ntlumn n Lufumnpn2[2
0lnrp 'lB0 ururnfr6u.r0 60 pnqb ql

hurm 500 0

33210000
umunnlnnrpjnrun uunLqnrL nu4nquLnnn ufumn nn2r|,
01nLp 132 u-rurnlr6u:0 20 pnqb ql hum 250 0

33650000 Itul-1LupInuf L1 4[u! lu$nu-oglnpuLugfr0 ql $1u11n0 1 0
33650000 lulrupfnLnfll 4lru11 gbgurqnllr0 -!bgqn1 ql $Lrul.trn0 1 0
33650000 lutlupfnmfl; 4hutt Shqnn$lnpuLuglr0 ql $LuUnI 1 0
33650000 fuulLupf nufl.1 4[rut1 uqfrppnt]frgfr0 cli $1uQn0 1 0
33650000 Itut1tupInLnIQ 4fru! udnpurugfrlfr0 ql $1u!n0 1 0
336s0000 Itu!rupInmf L1 4fru11 unLqdbImfrI q1 $1uQn0 1 0
33650000 iLultup[nm|! 4fruL1 qh0ugbg-gbgnLnnt1ufrrJ ql $1u!n0 1 0
33650000 3LuL1upf nmfl1 4fru! 4n!ufrgfrl.1lfr0-qhpnudhgfr0 ql $pul.ln0 1 0
33650000 lLul-1Lup[nuIti 4fru! glnL!n0uqn1 ql $1u11n0 1 0
33650000 f pf ppngf mullr0 qu0q{ud ql mntqpu-r11 1 0

33210000 UpluL rlh2 qlm\nqfr ilu\urp4ur\f npn2tfurl:
U\\nr-?hp nhpSnpdur phuur-hpfrqbhp

UU hum 1 000 120 120000

Pnd uutppu(npru[0bp,
q n p 6fip 0 bp, tq utn u q u 0 bn

33141144 Jubrl ObptupQdur0 hudut G-21 ql hum 5000 0
33141144 Uubq 0hpupQrlurfi hrudun G-23 q1 hum 300 0

33 141 142 Lhpurp\|r2 uruhqml 5rlg ql hum 100 0
33 141 142 Lhpurp!fu urutrlml 2d1 q? hum 200 0



33 141 142 0bptuplllrl 1.0r11[[unL1[0ur1fr0 ql nuLn 100 0
33 141 142 t hpuip\fr2 uubqnrl 10d1 ql hum 50 0
331_4L1.17 Ftrilpru! 50qn q3 hum 300 0
33141111 Uqhqurtlh 2.5url"5rl ql htrm 20 0
33141111 UqhqurhJr N10 ql umr{r 200 0
33161220 Gqurtnhl rlnulr.nh ql hur-n 1000 0
33141,1,56 thnhngtrhp pd2\ur\urtr qhrituh puurhpulrg ql htrm 3000 0
33141129 r}filut! hnui2hptn ql hum 300 0
31 651 200 hUQ duqu{b0 50.30 q1 hurtn 20 0
31 651 200 hUQ duqu{b0 60.30 qt huru 50 0
31 651 200 hUQ duquqb0 50.50 ql hurur 10 0

331,41,1,43 U !tup[r$[r!rum np 2r,ur.lrup ql hunn 3000 0

33140000 qupngfrll pd2lrul1ru0 01-200 ql hunn 1 000 0

32351230 flbOmqbfi duquLlbf 18.24 ql rnnr-rh 3 0

32351230 flb0Lnqb0 dtuqu{b0 13.18 q1 tnmrh a
I 0

33111140 $gnLnpn dulqunlhtr 1 10.30.5 ql tnnrrh 20 0

33140000 Tpfifiunbplr pnrrlp 1904/303 q1 hurtn 5 0

33140000 Af0lrr{bpurul pnrrlp PH-fr npn2dLu0 hrurlup ql huru 100 0

33140000 Unurp\u:1 ru \urh urq ru\ |r ql hunn 2000 0

33140000 Ouib\uru1ur14b 24.24 q? hunn 1000 0

33140000 6rubllurqur\h 18.'18 ql huru 2000 0

33140000 Ourb\ruqur\b 24.50 ql hunn 100 0

33140000 Tfrulhrn ROE ql huru 50 0

33140000 Tln4hur U*U]t ql hurur 50 0

33140000 tDnpdu[np uutuLn $upu l11nL{. hLudrup ql hurur 200 0

33140000 Up.lul ru0ru1[q[ un{Luq qbln{ 5d1 q1 huun 500 0

33140000 Onpdu0np EDTA 2rI1 q1 huln 1 000 0

33140000 tDnpdu0np lqb04np$ 1,5d1 ql hunn 1 000 0

33140000
'rl1u umdLuub 1u prupLurnn p qu pLuqur 0 bp
60rJl

ql hunn
100

0

33140000
{inpd,ruhnp dnqh\nq punr-\ rlhpgLhfm
hunfurn rhrhntlrohn8

r+-1 huln 200 0

33140000
rlrurlulur dtrqhU punipu\m{ pump
rlhnqhhtnt hurilurn riurhnhurqhnb

ql hutn
100 0

33140000 rhnn&urtrnra qhhunh$nr-our hhcml ql hurtn 50 0

33140000
alrhh\n1nqfrur\uh &nqJr\ punlp rlhpgtrhpr
hrurlurp q 

1 
urur.nrfuruh

ql hurur
300

0

33140000
$nfirlurhfr qrlu$q rilrurhr{urq
oquurqnpbriurh

ql hurur
500

0

33'140000 .r|frrllbm quuLnbplr uqfir"nru! 3d1 qt hrurn 50 0

33141114 t-duIqh$ pdztttuLrLu0 ql tihuin 200 0

33140000 UynLil[rIb 6n4+{[ru!nqu qh n pdu 0npn{ ql hutn 300 0

33140000 a[0bl1n1nq[uL1u 0 q4Lu 1fr! 0 bp il[u [{uq ql huln 500 0

33141,1-56 9bn[ngfibp pd2lqulLu0 q0du0 luLnbpufrg UU hluu 1 500 26 39000

33141144 Uubrl qp[2 UU hunn 1000 20 20000
4utnblltp

9132200 Pb0qh0 nbqnu run UU rhLnn 180 420 75600
Ounu4np1nfi0bp

90921 100
UIum u h u I Uul [ 1.. d ru Q Lu p n L1 60 b p I n 2 [ 1Lu g d Lu I
6unulnLplnL00bp UU 4nLud 1 4nuld

90521300
rd2quttLu[ purqhn[[bnh n2[2ugdtr0
Sunu;nLplnL00bp UU 4nLuU 1 4nrxU

r"r ul \ 
.;ai. * .;'; l

Qfintilp l4uLnLup{ntd t Q0nLd[bpfr rJLuulrO 3l opb0p[r 15-p4 hn4tlrudh 6-nn duufr 1-frO lbunfr hirdu0 {nur


